Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Surveying

Subject Code : 2TEO3SUR1

Semester : 3 Date : 08/12/2015 Time : 2:30 To 5:30 Marks : 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch : Diploma (Civil)

Q-1

f)

9)

h)

Attempt the following questions:

In surveying when curvature of earth is taken into consideration then that type is

called as
(A) Chain surveying  (B) Geodetic surveying
(C) Plane surveying (D) Contouring
If ‘n’ is the number of sides , then the total sum of exterior angles of a closed
traverse should be
(A) (n+2) x 90°  (B) (2n-4) x 90° (C) (2n+4) x 90° (D) (4n-2) x 90°
The vertical angle between longitudinal axis of a freely suspended magnetic
needle and a horizontal line at its pivot, is known
(A) declination (B) azimuth (C) dip (D) bearing
As per Indian standard, the length of one link in 30 meter chain should be
(A)20cm (B)30cm (C)40cm (D) 10cm
The horizontal angle between the true meridian and magnetic meridian at a
place is called
(A) azimuth (B) declination (C) local attraction (D) magnetic bearing
If the magnetic bearing of the sun at a place at noon in southern hemisphere is
167°, the magnetic declination at that place is
(A)77°N (B)23°S (C)13°E (D) 13°W
Size of a theodolite is specified by
(A) the length of telescope (B) the diameter of vertical circle
(C) the diameter of lower plate (D) the diameter of upper plate
A telescope is said to be inverted if its
(A) vertical circle is to its right and the bubble of the telescope is down
(B) vertical circle is to its right and the bubble of the telescope is up
(C) vertical circle is to its left and the bubble of the telescope is down
(D) vertical circle is to its left and the bubble of the telescope is up
The cross hairs in the surveying telescope are placed
(A) midway between eye piece and objective lens
(B) much closer to the eye-piece than to the objective lens
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(C) much closer to the objective lens than to the eye piece

(D) anywhere between eye-piece and objective lens

For which of the following permanent adjustments of theodolite, the spire test
IS used?

(A) adjustment of plate levels

(B) adjustment of line of sight

(C) adjustment of horizontal axis

(D) adjustment of altitude bubble and vertical index frame

Which of the following errors is not eliminated by the method of repetition of
horizontal angle measurement?

(A) error due to eccentricity of verniers

(B) error due to displacement of station signals

(C) error due to wrong adjustment of line of collimation and trunnion axis
(D) error due to inaccurate graduation

The following sights are taken on a "change point™

(A) fore sight only (B) back sight only

(C) fore sight and back sight (D) fore sight and intermediate sight

The rise and fall method of levelling provides a complete check on

(A) back sight (B) intermediate sight (C) fore sight (D) all of the above
The principle of working of an optical square is based on

(A) refraction  (B) reflection (C) double refraction (D) double reflection

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

(a)
(b)

(a)
(b)

(a)
(b)
(©)

(a)
(b)

Attempt all questions

Give classification of surveying with use of each type.

Explain the methods of chaining on sloping ground.

Attempt all questions

Explain various characteristics of contours.

Following bearings were observed while running a closed traverse. Correct the
bearing for local attraction and calculate included angles.

Line | Fore Bearing | Back Bearing
AB 68° 248°
BC 130° 312°
CD 252° 70°
DA 344° 164°

Attempt all questions
Explain following terms:

(i) Line of collimation, (ii) Reduced level, (iii) Back sight, (iv) Change point, (V)

Contour interval

What is ranging? Explain indirect ranging with sketch.

Write short note on Line ranger.

Attempt all questions

Explain the Trapezoidal rule and Simpson rule for computation of area.
Following readings are taken with a level and 4.0 m leveling staff on constantly
falling ground. 1.235, 0.445, 1.365, 2.560, 3.675, 0.220, 1.105, 1.890, 2.985,

0.105, 1.435, and 2.075. The first reading was taken on BM having RL 100.555.
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Q-8

(a)
(b)

(©)

(a)
(b)

(@)

(b)

Find the RL of points by HI method. Give arithmetic check.

Attempt all questions

List the instruments used in chain and tape survey and write the function of each
of the instrument.

Define the following terms:

(i) Local attraction, (ii) Dip, (iii) True meridian, (iv) Isogonic lines, (V)
Declination

Distinguish between whole circle bearing and reduce bearing.

Attempt all questions

Explain different axes of theodolite with its interrelationship.

Explain the methods of orientation in plane table survey.

Attempt all questions

State the functions of following in respect of theodolite.

(i) Clip screw, (ii) Telescope, (iii) Shifting head, (iv) Lower plate screw, (v)
Vertical circle, (vi) Tangent screw, (vii) Clamping screw.

List the instruments used in plane tabling and give their uses.
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aa)

Attempt the following questions:

Adani ol Yeelll 2lon S BAHl Al 204 dl A UstAL udaeig g
PRECIUN

(A) Chain surveying  (B) Geodetic surveying

(C) Plane surveying (D) Contouring

6LEL U VRLAL 6Ll VRLLAL AUV 32l A ? n led cugii-l dval.
(A) (n+2) x 90°  (B) (2n-4) x 90° (C) (2n+4) x 90° (D) (4n-2) x 90°
Hsadld padl Aorsla iaAl vl 1A alldloy 2ui a2 Yldie WA oirdl Ged
vl g sSaud. ?

(A) declination (B) azimuth (C) dip (D) bearing

30 Hl2 -l Aisu-L IS yasor is dls-l dousS 32l eidl sid31.?
(A)20cm (B)30cm (C)40cm (D) 10cm

A1 ANSlAA 21 Gorsla ASldA AL ARATA viRlA Q) s8aix. ?
(A) azimuth (B) declination (C) local attraction (D) magnetic bearing
515 A5 @0 6l elaal SHIRS U A Y Aotsla A1oL 167° & dl d aa
orslu [Qaan seg «u9.7?

(A)77°N (B)23°S (C)13°E (D) 13°W

laisiarsedl 1152 3l Fa salam ?

(A) the length of telescope (B) the diameter of vertical circle

(C) the diameter of lower plate (D) the diameter of upper plate
2lsiun Swi2s s . . ..

(A) vertical circle is to its right and the bubble of the telescope is down

(B) vertical circle is to its right and the bubble of the telescope is up

(C) vertical circle is to its left and the bubble of the telescope is down

(D) vertical circle is to its left and the bubble of the telescope is up

A0l 2elREIUHL S S, UL ULl

(A) midway between eye piece and objective lens

(B) much closer to the eye-piece than to the objective lens

(C) much closer to the objective lens than to the eye piece

(D) anywhere between eye-piece and objective lens

fluisiaSenl sul staHl VusuRA2 HIZ RUIAR 22+l GuaioL i 9. ?
(A) adjustment of plate levels

(B) adjustment of line of sight

(C) adjustment of horizontal axis

(D) adjustment of altitude bubble and vertical index frame

ellBired vioe Ao el IlUl2eiA weadl ofl {l2AA1miall 55 2121
eflHlAes adl Aell.?

(A) error due to eccentricity of verniers

(B) error due to displacement of station signals

(C) error due to wrong adjustment of line of collimation and trunnion axis
(D) error due to inaccurate graduation

Aroy Yidve BUR 5 ALde AcUHl 1A 9.7

(A) fore sight only (B) back sight only

(C) fore sight and back sight (D) fore sight and intermediate sight
aadlot-l 2152 241 sl AasAl suL usL AL selle s Aadl asiu ?
(A) back sight (B) intermediate sight (C) fore sight (D) all of the above

bb) 2Utélsa 25A2 AL stdHL Aleald 3l GUR UL AR D).
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Q-2

Q-4

Q-5

Q-7

(a)
(b)

(a)
(b)

(@)
(b)
(©)

(a)
(b)

(@)
(b)

(©)

(a)
(b)

(@)

(b)

(A) refraction (B) reflection (C) double refraction (D) double reflection
Attempt any four questions from Q-2 to Q-8

Attempt all questions

AdaRid asllsel s 1A eASL GuAloL @vil.

srneofl el el Fldl uHenal

Attempt all questions

AHLA vl [Alaa clalBLsaiil AHox1dl.

15 ole HiARWRL 5l auid dl8a Aaaisl 1A Yosot-l €. A usylial

HI2 GLLo1ME YaLl s idold werll adl.

Line | Fore Bearing | Back Bearing
AB 68° 248°
BC 130° 312°
CD 252° 70°
DA 344° 164°

Attempt all questions

1AL Yl ARl

(i) AHia L v, (i) A9a GALS , (iii) urala disn, (iv) Bastea [Big, (V)
AHALRA vl oual

230l vl UL, gl AL UA U VR AL

ALSH 3% UR 25 Avill.

Attempt all questions

Aztsu{l L] HISAL 2URBLSSA 3 2 ALHUA 36 AHLAL.

Aad dal 4.0 m AL ddael €5 A4S Add alouaoll gHlA Gu AL aiu-st
Aalui »11a4a €. 1.235, 0.445, 1.365, 2.560, 3.675, 0.220, 1.105, 1.890, 2.985,
0.105, 1.435, and 2.075. The Max ai2-Als & da@as 4 ddimi »uda a-l
AL0& GuiS 100.555. €. HI uzadl gl [Bigaii-l a10a GuiS aial. auRidla
ALY Al

Attempt all questions

ALsO 2 20 AdERHL AUUAL ALEALAL ~UH AUl d2dl 235 qaAd s
oLl

AlAAL vl carvaL 21Ul

(i) -ls sy, (i) AanA, (i) 0y Juigy, (iv) a4lzs Jvusll, (V) Bsua
5121

yelga 613101 2 gaule AF10L 9221 dle il

Attempt all questions

fluisialSeHl viadl AEIYEL HEL AHALAL 247 A A2AAL 2 |S Aoie 2Ll
Adail [Bseuu-dl Jdl aHexal

Attempt all questions

fluisianSel Aecinl Al2AAAL s1ul avil..

(i) Baw g, (i) 2l@siv, (i) iaz o, (iv) dladl w@endl 2, (v) alEsa
Asa, (Vi) He 2as g, (vii) salioy s,

AH UL Ad&RAHL AU AL ALEALAL ~UH 27 GUALDL oLl .
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